SAP ABAP table P02 ELM TMS INT PERNR PART {ELM TemSe: Particulars}

T502T

MANDT [CLNT (3)]
PO2_ELM TMS_INT PERNR PART-FAMST = T502T-FAMST  _ _ .- | SPRSL [LANG (1)]

—_

—_—

-7 FAMST [CHAR (1)]

-7 T5C3I

¢ P02 ELM TMS_INT PERNR PARTAWSCH = T5C3I-ANWSCHLCH | MANDT [CLNT (3)]

___________________________ " | ANWSCHLCH [CHAR (4)]

___________________________ T5C52

0-N P02 _ELM TMS_INT PERNR PART.CMPNY = T5CSL-ABREINHEIT  0..N | MANDT [CLNT (3)]
S INIDD [CHAR (12)]

TTe -l T5CSL

0N MANDT [CLNT (3)]

ABREINHEIT [CHAR (8)]

ENDDA [DATS (8)]




